

JONATHAN E. FIELDING, M.D., M.P.H.

Director and Health Officer

JONATHAN E. FREEDMAN

Chief Deputy Director

313 North Figueroa Street, Room 708 Los Angeles, California 90012 TEL (213) 240-8156 • FAX (213) 481-2739

www.publichealth.lacounty.gov

April 11, 2011



BOARD OF SUPERVISORS

Gloria Molina First District

Mark Ridley-Thomas Second District

Zev Yaroslavsky

Don Knabe Fourth District

Michael D. Antonovich Fifth District

ADDENDUM NO. 3 TO REQUEST FOR PROPOSALS (RFP) FOR LABORATORY COURIER SERVICES

On March 10, 2011, the Los Angeles County, Department of Public Health (DPH), in collaboration with the Department of Health Services (DHS), released a RFP to solicit proposals from qualified laboratory courier contractors for the provision of services transporting laboratory specimens, reports, supplies, and other materials to and from designated locations within Los Angeles County.

As indicated in the RFP, Paragraph 1.5, County Rights & Responsibilities, the County may amend the RFP by written addendum. This Addendum No. 3 amends the RFP as indicated below:

- 1. Attachment I shall be added to the RFP as County's response to questions posed at the Mandatory Proposers' Conference held on April 6, 2011.
- 2. RFP, Paragraph 2.3, RFP Timetable, shall be amended to revise deadlines as follows (Note: revisions are identified in **bold font**):
 - "2.3 RFP Timetable

The timetable for this RFP is as follows:

- 3. RFP, Paragraph 2.9.1 Proposer's Organization Questionnaire/Affidavit and Required Support Documentation, Required Support Documents, shall be amended to add the following reference point:
 - "3) Documents required in this section must be submitted for both the Contractor (Proposer) and Subcontractor."

- 4. RFP, Paragraph 2.9.8, Business Proposal Required Forms (Section F), shall be amended to add Exhibits 25A(DPH) and 25B(DHS), Routine Services Route Transportation Mileage Calculation as well as supporting MapQuest web mapping documentation. (Mileage for Routine services must be based on MapQuest web mapping service.)
- 5. RFP, Paragraph 3.5, Cost Proposal Evaluation Criteria (30%), shall be amended to delete the first (1st) and second (2nd) paragraph in its entirety and replace as follows:

"DPH and DHS proposed budget amounts for Routine Route services will be combined and evaluated.

Routine Route and Non-Routine Route proposed service costs will be evaluated separately. In each category, Routine Route and Non-Routine Route, the maximum number of possible points will be awarded to the lowest cost responsive proposal. All other responsive proposals in each of the categories, Routine Route and Non-Routine Route, will be compared to the lowest cost and points will be awarded accordingly.

However, should one or more of the Proposers request and be granted the Local SBE Preference and/or Transitional Job Opportunities Preference, the cost component points in each category, Routine Route and Non-Routine Route, will be determined as follows:"

- 6. RFP, Appendix C, Technical Exhibit 3, Routine Route Schedule for Department of Health Services (pages 1-4) shall be deleted in its entirety and replaced with the attached Technical Exhibit 3, Routine Route Schedule Department of Health Services.
- 7. RFP, Appendix D, Exhibit 14, Budget Sheet (Revised 4/1/11), DPH & DHS, shall be deleted and replaced with the attached revised Exhibit 14, Budget Sheet, DPH & DHS. (Please note that Exhibit 14 requires that transportation mileage for Routine Services be based on MapQuest web mapping service.)

Addendum No. 3 has been posted on the following County of Los Angeles websites: http://cg.dhs.lacounty.gov/, and http://camisvr.co.la.ca.us/lacobids/BidLookUp/BidOpenStart.asp.

Thank you for your interest in contracting with the County of Los Angeles. Except for the revisions contained in Addendum No. 1, Addendum No. 2, and Addendum No. 3 there are no other revisions to the RFP.

Attachments (6)

ADDENDUM NO. 3 REQUEST FOR PROPOSALS (RFP) FOR LABORATORY COURIER SERVICES ANSWERS TO PROPOSERS QUESTIONS POSED AT THE MANDATORY PROPOSERS CONFERENCE ON APRIL 6, 2011

Q1: Are Independent Contractors allowed?

A1: For the purpose of this solicitation, an Independent Contractor is defined as a Subcontractor. All Subcontractors must comply with the terms and conditions of the RFP and the resulting County Contract including, but not limited to, the Living Wage Ordinance, insurance requirements, and the provision of all required forms and applicable licenses, including proof from the California Secretary of State of the entity's business organization. The recommended Contractor must submit and obtain the County's approval of the sub-contract agreement prior to the Subcontractor's provision of services. Further specified in RFP, Appendix A, Sample Contract, Paragraph 8.40, SUBCONTRACTING.

All drivers must be employees of either the Contractor (Proposer) **OR** the Subcontractor, no exceptions.

- Q2: How does the County verify that staff of the subcontractor are trained?
- A2: As specified in RFP, Appendix A, Sample Contract, Paragraph 8.40, SUBCONTRACTING, sub-paragraph 8.40.4, "The Contractor shall remain fully responsible for all performances required under this Contract, including those that the Contractor has determined to subcontract, notwithstanding the County's approval of the Contractor's proposed subcontract." As such, Contractor will be responsible for ensuring that Subcontractor complies with Appendix A, Sample Contract, Paragraph 7.8, Mandatory Personnel Monitoring Reports.
- Q3: What is the exact date of current contract expiration? Will the current contract be extended? For how long?
- A3: The existing agreement is scheduled to expire on September 30, 2011. As stated in RFP, sub-paragraph 1.1, Purpose, it is the County's intent to award a separate contract with each Department to commence services immediately upon expiration of the current contract and ensure there is no gap in service.
- Q4: May delivery personnel be allowed to wear clean, properly fitting uniform shorts?
- A4: For drivers' safety, shorts are not allowed. As stated in Appendix B, Statement of Work, Paragraph 6.4.4, Uniform and Identification Badges, "Contractor's personnel must wear suitable uniforms with the name of the company on the uniform." An identification badge with picture of the driver, name of the driver, and company name is required to be worn at all times while performing contracted services. No t-shirts, shorts, sandals, or open-toed shoes are permissible."

- Q5: Please explain the County approved equation to figure health benefits paid on behalf of employees as a cost/per hour?
- A5: The Auditor-Controller obtained from the Department of Public Social Services (DPSS) the minimum gross earnings a participant would need to earn to become ineligible for cash assistance under the Cal/WORKS Program. DPSS provided the monthly gross amount of \$1,671 as the point of ineligibility based on the following: an average assistance unit of three (3) persons; based solely on an hourly wage; no income other than earned wages; and not including any employee benefits.

Based on gross earnings of \$1,671 and monthly work hours of 173.3 (40 hours per week x 52 weeks/12 months), the hourly rate was calculated to \$9.64. The cost of health insurance benefits was calculated to be \$2.20 per hour for a three person household. This amount was based on a weighted average of standard HMO costs per age group.

- Q6: What is the County's guideline for mileage reimbursement for employees who use their own vehicles?
- A6: The County's guideline for mileage reimbursement is not relevant to this solicitation.
- Q7: What is the projected volume or frequency of Non-Routine or "Stat" deliveries?
- A7: At this time, the County is not able to project the volume or frequency, but we anticipate that it will be minimal.
- Q8: Is there any consideration for company payment in excess of health benefits more than \$2.20/hour?
- A8: There is no consideration given. Proposers must comply with the Living Wage requirements.
- Q9: Should both cost proposals (DPH & DHS) be included on each CD?
- A9: No. One CD should be submitted with DPH data and the second with DHS data.
- Q10: What specific licenses and certificates would you like us to include?
- A10: As stated in RFP, Paragraph 2.9.10, Proof of all applicable Licenses/Certifications (Section H) "Provide a copy of <u>all applicable</u> licenses, certificates, permits, <u>for example</u>: business license, State of California DMV Motor Carrier Permit, etc." <u>Note</u>: The submission of employee licenses is not required. Evidence from the California Secretary of State of the business organization for both the Contractor and Subcontractor must be included as part of the supporting documentation to Proposer's Organization Questionnaire/Affidavit Exhibit 1.

ADDENDUM NO. 3 April 11, 2011 Page 3 of 3

- Q11: Section E, how would you like it done?
- A11: The Section E requirement may be simply fulfilled by including the required statements on Company letterhead, signed by an authorized signatory.
- Q12: Would you like the questions answered in number format, paragraph format, or bullet points?
- A12: RFP, Paragraph 2.9.5 indicates "At a minimum, include responses to the following questions in the order specified". Therefore, it is appropriate to use the same numbering method to ensure the proposal is clear and "user friendly" and will enable the evaluators to easily find reference points.
- Q13: Where do we include additional data, forms, training manuals, etc?
- A13: No data in addition to that which is requested in the RFP is required nor will it be evaluated. Submit data in the Section in which it was requested. See RFP, Paragraph 2.9, Business Proposal Format.

		Routine Route ⁻	Fransportation Schedule		Annual Stop Number Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
ROUTE	1				3,593		
7:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		
8:30	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	249		
9:05	Monday to Friday	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	249		
9:40	Monday to Friday	Glendale Health Center	501 N. Glendale Ave.	Glendale 91206	249		
10:10	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	249		
11:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		
12:00	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	147		
12:10	Tuesday, Thursday	AltaMed El Monte	10454 E. Valley Blvd.	El Monte 91731	206		
12:50	Monday to Friday	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	249		
13:30	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	249		
13:50	Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	249		
14:30	Monday to Friday	Glendale Health Center	501 N. Glendale Ave.	Glendale 91206	249		
15:00	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	249		
15:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	249		
15:50	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	252		
ROUTE	2	·		·	3984		
7:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		
8:00	Monday to Friday	STD Program Headquarters	2615 S. Grand Ave.	Los Angeles 90007	249		
8:15	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	249		
8:50	Monday to Friday	Torrance Health Center	711 Del Amo Blvd.	Torrance 90502	249		
9:20	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	249		
9:50	Monday to Friday	Ruth Temple Health Center	3834 S. Western Ave.	Los Angeles 90062	249		
10:50	Monday to Friday	Hollywood-Wilshire Health Center	5205 Melrose Ave.	LosAngeles 90038	249		
11:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		
12:35	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	249		
12:55	Monday to Friday	Torrance Health Center	711 Del Amo Blvd.	Torrance 90502	249		
13:30	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	249		
14:00	Monday to Friday	Ruth Temple Health Center	3834 S. Western Ave.	Los Angeles 90062	249		
14:25	Monday to Friday	Hollywood-Wilshire Health Center	5205 Melrose Ave.	LosAngeles 90038	249		
14:40	Monday to Friday	Twin Towers C.F. (Towers I & II)	450 & 550 Bauchet St.	Los Angeles 90012	249		
15:00	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	249		
15:35	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		

			Insportation Schedule	i		ı	
		Trouming Tround Tro	opoao cooaa.o		Annual Stop Number Deducting Holidays	MILES PER	1
					and No Pick-Up	TRIP	TOTAL MILES
ROUTE	3				2,837		
8:00	Wednesday, Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	93		
9:15	Monday, Wednesday, Friday	A.H.F. Valley Healthcare Center		Sherman Oaks 91403	145		
9:30	Monday, Wednesday, Friday	AIM Health Care	,	Sherman Oaks 91403	145		
9:30	Monday, Wednesday, Friday	AIM Health Care	,	Granada Hills 91344	145		
9:45	Friday	Pierce College		Woodland Hills 91371	41		
9:55	Monday, Wednesday, Friday	Tarzana Treatment Center	18646 Oxnard St./8330 Reseda Bl		145		
10:00	Monday, Wednesday, Friday	Tarzana Mobile Treatment		Reseda 91335	145		
11:00	Friday	Van Nuys Medical & Mental Health		Van Nuys 91411	41		
11:10	Friday	Via Avanta	•	Pacoima 91331	41		
11:30	Monday to Friday	El Proyecto Del Barrio		Arleta 91331	249		
11:45	Thursday	Valley Community Clinic		North Hollywood 91605	41		
12:30	Monday to Friday	Lambda Medical Group	,	Los Angeles 90028	249		
12:50	Friday	Van Ness Recovery House		Los Angeles 90068	41		
13:05	Friday	Hollywood Courthouse		Hollywood 90028	41		
13:20	Wednesday, Friday	Childrens Hospital	•	Los Angeles 90027	93		
13:30		A.H.F. Men's Wellness Center		•	249		
13:40	Monday to Friday	Asian Pacific Health Care Venture, Inc	· ·	Los Angeles 90027 Los Angeles 90027	41		-
13:50	Tuesday Manday Wadnaaday Friday	Hollywood Sunset Free Clinic		•	145		
	Monday, Wednesday, Friday	A.H.F.		Los Angeles 90026	249		-
14:00	Monday to Friday			Los Angeles 90026	249		
14:20 15:40	Monday to Friday		•	Los Angeles 90026	249		
ROUTE	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242			—
8:00		Dublic Hoolth Lab Downey	12750 Erickson Ave.	Daymay 00242	3,595 93		-
9:00	Wednesday, Friday	Public Health Lab - Downey AltaMed		Downey 90242	145		
	Monday, Wednesday, Friday			Los Angeles 90063	145		
9:20	Tuesday, Thursday, Friday	AltaMed - East Los Angeles		Los Angeles 90022			
9:40	Tuesday, Thursday	Asian Youth Center	•	San Gabriel 91776	93		+
10:00	Monday, Wednesday, Friday	Bienvenidos		Los Angeles 90022	145		
10:10	Monday to Friday	Edward R. Roybal C.H.C.	•	Los Angeles 90022	249		
10:20	Monday, Wednesday, Friday	East Los Angeles College		Monterey Park 91754	145		
11:05	Tuesday, Thursday	Pasadena City College		Pasadena 91103	93		
11:20	Monday to Friday	Pasadena Public Health		Pasadena 91103	249		
11:45	Monday to Friday	Public Health Lab - Downey		Downey 90242	249		
10:50	Thursday	Citrus College		Glendora 91741	41		\vdash
11:30	Monday to Friday	AltaMed - Pico Rivera		Pico Rivera 90660	249		\vdash
11:35	Monday to Friday	Whittier Health Center		Whittier 90602	249		
12:00	Monday, Wednesday	A.H.F Whittier Healthcare Center	9200 Colima Rd.	Whittier 90603	93		
12:00	Thursday	Whittier Rio Hondo			41		
13:00	Monday to Friday	La Puente Health Center		La Puente 91744	249		
13:10	Monday to Friday	Cal Poly Pomona	•	Pomona 91768	249		
13:10	Monday to Friday	Pomona Health Center		Pomona 91766	249		
13:20	Tuesday, Thursday	East Valley Community Health Center		West Covina 91790	93		
13:30	Monday, Wednesday, Friday	East Valley Community Health Center	The state of the s	Pomona 91768	145		
13:45	Wednesday	Prototypes	,	Pomona 91767	41		
13:55	Friday	American Recovery Center	•	Pomona 91768	41		
15:35	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		

		Routine Route Tr	ansportation Schedule		Annual Stop Number Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
ROUTE	5				3,744		
8:00	Wednesday, Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	104		
8:20	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	260		
8:40	Monday, Wednesday, Friday	The 1350 Club	510 W. Anaheim St.	Wilmington 90744	156		
9:15	Monday to Friday	A.H.F. Downtown Healthcare Center	1414 S. Grand Ave.	Los Angeles 90015	260		
9:30	Wednesday	Matrix Institute	5220 W. Washington Blvd.	Los Angeles 90016	52		
9:45	Friday	Positive Images Minority AIDS	5149 W. Jefferson Blvd.	Los Angeles 90016	52		
9:55	Monday, Wednesday, Friday	A.H.F. Westside Healthcare Center	99 La Cienega Blvd.	Los Angeles 90211	156		
11:00	Monday to Friday	A.H.F. West Hollywood	8212 Santa Monica Blvd.	West Hollywood 90046	260		
11:15	Monday, Wednesday, Thursday, Friday	U.C.L.A. Project Flow	910 N. Vine St.	Los Angeles 90038	208		
11:00	Thursday	Criminal Justice Center	210 W. Temple St.	Los Angeles 90012	52		
11:45	Friday	Pacifica House	2501 W. El Segundo Blvd.	Hawthorne 90250	52		
11:45	Wednesday	El Camino College	16007 S. Crenshaw Blvd.	Torrance 90506	52		
12:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	260		
12:10	Monday, Thursday	Cal State Dominguez Hills	1000 E. Victoria St.	Carson 90747	208		
12:10	Friday	Tarzana Treatment Center	2101 Magnolia Ave.	Long Beach 90806	52		
13:00	Monday	Redgate Memorial Recovery Center	1775 Chestnut Ave.	Long Beach 90813	52		
13:25	Monday, Thursday	Bienestar Human Services	1020 E. Pacific Coast Hwy.	Long Beach 90806	104		
13:10	Friday	C.A.R.E. Program	411 E. 10th St.	Long Beach 90813	52		
13:25	Monday to Friday	OASIS Clinic	1807 E. 120th St.	Los Angeles 90059	260		
13:40	Monday, Tuesday, Thursday	Jordan High School	2265 E. 103rd St.	Los Angeles 90002	156		
14:05	Monday to Friday	U.S.C. Student Health	849 W. 34th St.	Los Angeles 90089	260		
14:20	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	260		
15:00	Monday, Wednesday, Friday	T.H.E. Clinic	3834 S. Western Ave.	Los Angeles 90062	156		
15:40	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	260		
ROUTE	6				4,233		
7:15	Monday to Friday, Monday only 7:00	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	249		
8:00	Monday to Friday, Monday only 7:30	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	249		
8:50	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	249		
9:20	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	249		
9:35	Monday to Friday	Ingleside Hospital	7500 Hellman Ave	Rosemead 91770	249		
9:50	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	249		
10:10	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	249		
11:00	Monday to Friday	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	249		
11:30	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	249		
12:00	Monday to Friday	La Puente Health Center	15930 Central Ave.	La Puente 91744	249		
12:40	Monday to Friday	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	249		
13:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	249		
14:00	Monday to Friday, Friday only 15:55	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	249		
15:00	Monday to Friday, Friday only 15:20	Pomona Health Center	750 S. Park Ave.	Pomona 91766	249		
15:15	Monday to Friday, Friday only 14:55	La Puente Health Center	15930 Central Ave.	La Puente 91744	249		
15:45	Monday to Friday, Friday only 14:00	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	249		
16:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	249		

Annual Stop Number

Total Annual Number of Stops 24,372
GRAND TOTAL MILES:

					Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
ROUTE	7				1,130		
8:00	Wednesday, Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	93		
10:00	Monday to Friday	Central Regional Detention Facility	11705 S. Alameda St.	Lynwood 90262	249		
10:00	Tuesday, Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	93		
10:30	Monday to Friday	Drew Satellite Clinic	2610 Industry Way	Lynwood 90262	249		
11:30	Tuesday, Wednesday, Thursday, Friday	Oasis Clinic	3209 N. Alameda St.	Compton 90222	197		
12:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	249		
ROUTE	: 8				197		
8:30	Monday, Thursday	Public Health Pharmacy	241 N. Figueroa St., Rm B-9	Los Angeles 90012	104		
9:30	Monday, Thursday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	93		
ROUTE	:9				1,059		
8:00	Saturday	Twin Towers C.F. (Towers I & II)	450 & 550 Bauchet St.	Los Angeles 90012	52		
8:20	Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	52		
8:45	Saturday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	52		
9:10	Saturday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	52		
9:30	Saturday	Central Regional Detention Facility	11705 S. Alameda St.	Lynwood 90262	52		
10:00	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	52		
TBD	Monday to Friday (AM)	North Hollywood Health Center	5300 Tujunga Ave.	North Hollywood 91601	249		
TBD	Monday to Friday (PM)	North Hollywood Health Center	5300 Tujunga Ave.	North Hollywood 91601	249		
TBD	Monday to Friday	Burke/Simms/Mann Health Center	2509 Pico Blvd., Rm 325	Santa Monica 90405	249		

4 (of 4
-----	------

						Annual Stop Number		
						Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
	ANTELO	OPE VALLEY CLUSTER ROUTE				2,500		
1	10:30	Monday to Friday	South Valley Health Center	38350 40th St. East	Palmdale 93552	250		
2	11:15	Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	250		
3	11:40	Monday to Friday	Challenger Memorial Youth Center	5300 W. Avenue "I"	Lancaster 93534	250		
4	12:00	Monday to Friday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	250		
5	13:00	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
6	15:30	Monday, Wednesday, Friday	Lake Los Angeles Community Clinic	16921 East Avenue O, Space G	Lake Los Angeles 93591	147		
7	15:30	Tuesday, Thursday	Littlerock Community Clinic	8201 Pearblossom Hwy.	Littlerock 93543	103		
8	16:10	Monday to Friday	South Valley Health Center	38350 40th St. East	Palmdale 93552	250		
9	16:30	Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	250		
10	17:00	Monday to Friday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	250		
	18:00	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
4		OPE VALLEY CLUSTER PM ROUTE				500		
1		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
		Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
		RNANDO CLUSTER ROUTE				2,393		
	13:20	Monday to Friday	Barry J. Nidorf Juvenile Hall	16350 Filbert St.	Sylmar 91342	250		
	13:50	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
	14:05	Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	250		
4	15:30	Monday to Friday Monday, Wednesday, Friday, No pick-up 3rd of the month	Vaughn School Based Clinic	13330 Vaughn St.	San Fernando 91340	250		
5	16:00	37 37 1 1	North Hollywood Health Center	5300 Tujunga Ave. 501 N. Glendale Ave.	North Hollywood 91601	143 250		
6	16:30	Monday to Friday	Glendale Health Center Pacoima Health Center		Glendale 91206			
	17:00 17:20	Monday to Friday Friday		13300 Van Nuys Blvd.	Pacoima 91331	250 50		
8 9		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr. 7515 Van Nuys Blvd.	Sylmar 91342	250		
10	20:05 20:20	Monday to Thursday	Mid-Valley C.H.C. San Fernando Health Center	1212 Pico St.	Van Nuys 91405 San Fernando 91340	200		
	20:20	Monday to Triursday Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
		EAST CLUSTER ROUTE + ANTELOPE VALLEY (Saturda		14443 Olive view DI.	Sylillar 91342	424		
	13:00	Saturday	South Valley Health Center	38350 40th St. East	Palmdale 93552	53		
	14:00	Saturday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	53		
3	16:00	Saturday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	53		
4	16:50	Saturday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	53		
5	18:00	Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	53		
6	18:15	Saturday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	53		
7	18:40	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	53		
8		Saturday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	53		
		EAST CLUSTER ROUTE + ANTELOPE VALLEY (Sunday		3	3	496		
1	12:00	Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	62		
2	12:40	Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	62		
3	14:40	Sunday and Holiday	South Valley Health Center	38350 40th St. East	Palmdale 93552	62		
4	15:40	Sunday and Holiday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	62		
5	18:00	Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	62		
6	18:15	Sunday and Holiday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	62		
7	18:40	Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	62		
8	19:00	Sunday and Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	62		

Annual Stop Number

						Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
- 1	NORTH	EAST CLUSTER ROUTE: Subroute 1				4,000	114.11	WILES
1	7:15	Monday to Friday, Monday only 7:00	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
2	8:00	Monday to Friday, Monday only 7:30	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	250		
3	8:50	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	250		
4	9:20	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	250		
5	9:50	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	250		
6	10:10	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
	11:00	Monday to Friday	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	250		
	11:30	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	250		
9	12:00	Monday to Friday	La Puente Health Center	15930 Central Ave.	La Puente 91744	250		
10	12:40	Monday to Friday	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	250		
	13:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
	14:00	Monday to Friday, Friday only 15:55	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	250		
	15:00	Monday to Friday, Friday only 15:20	Pomona Health Center	750 S. Park Ave.	Pomona 91766	250		
14		Monday to Friday, Friday only 14:55	La Puente Health Center	15930 Central Ave.	La Puente 91744	250		
	15:45	Monday to Friday, Friday only 14:00	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	250		
		Monday to Friday, Friday only 16:45	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
_		EAST CLUSTER ROUTE: Subroute 2	Extorogo Medical Center	1200 W. State St.	203 / trigeres 30000	3,850		
		Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
	11:20	Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	50		
	11:30	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	250		
	12:20	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	250		
5	13:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
	13:30	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	250		
Ŭ	10.00	Monday to Friday	East San Gabriel Valley Satelitte	10000 Kamena Biva.	El Monto 01701	200		
7	13:40	Monday to Friday	Medical Hub	4024 N. Durfee Rd.	El Monte 91731	250		
8	14:00	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	250		
9	14:15	Friday	Dorothy F. Kirby Center	1500 S. McDonnell Ave.	Los Angeles 90022	50		
10	15:00	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	250		
11	15:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
12	17:00	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	250		
13	18:25	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	250		
14	19:00	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	250		
15	19:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
16	19:55	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	250		
17	20:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
1	NORTH	EAST/COASTAL CLUSTER ROUTE: Subroute 3				1,500		
1	8:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
2	9:30	Monday to Friday	Public Health Lab	313 N. Figueroa St	Los Angeles 90012	250		
3	11:55	Monday to Friday	Hollywood/Wilshire Health Center	5205 Melrose Ave.	Hollywood 90038	250		
4	12:25	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	250		
5	12:55	Monday to Friday	Weingart Medical Clinic	515 E. 6th St.	Los Angeles 90021	250		
6	13:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		

Annual Stop Number

						Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
5	SOUTH	WEST CLUSTER ROUTE				4,000		
1	9:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
2	10:00	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	250		
3	10:30	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	250		
4	11:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	250		
5	11:20	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	250		
6	11:40	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
7	12:00	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	250		
8	12:20	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	250		
9	12:40	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	250		
10	13:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	250		
11	13:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
12	14:00	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	250		
13	14:30	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	250		
14	15:00	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	250		
15	15:30	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	250		
16	16:00	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
(COAST	AL CLUSTER ROUTE				3,750		
1	10:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
2	11:30	Monday to Friday	Bellflower Health Center	10005 E. Flower St.	Bellflower 90706	250		
3	12:15	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	250		
4	12:30	Monday to Friday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	250		
5	12:45	Monday to Friday	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	250		
6	12:55	Monday to Friday	Torrance Health Center	711 Del Amo Blvd.	Torrance 90502	250		
7	13:05	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
8	15:20	Monday to Friday	Gardena School Based Clinic	1301 W. 182nd St., Rm W1	Gardena 90248	250		
9	16:00	Monday to Friday	Bellflower Health Center	10005 E. Flower St.	Bellflower 90706	250		
10	16:45	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	250		
11	17:00	Monday to Friday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	250		
12	17:15	Monday to Friday	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	250		
13	17:50	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
14	18:30	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	250		
15	19:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		

						Annual Stop Number Deducting Holidays and No Pick-Up	MILES PER TRIP	TOTAL MILES
H	HOSPIT	AL/PUBLIC HEALTH ROUTE				4,750		
1	7:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
2	8:15	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	250		
3	8:30	Monday to Friday	Barry J. Nidorf Juvenile Hall	16350 Filbert St.	Sylmar 91342	250		
4	9:20	Monday to Friday	Public Health Lab	313 N. Figueroa St	Los Angeles 90012	250		
5	9:25	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	250		
6	9:45	Monday to Friday	Los Padrinos Juvenile Hall	7285 Quill Drive	Downey 90242	250		
7	10:00	Monday to Friday	Rancho Los Amigos N.R.C.	7601 E. Imperial Hwy.	Downey 90242	250		
8	10:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	250		
9	11:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
10	11:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
11	12:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	250		
12	12:30	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	250		
13	13:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
14	13:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	250		
15	13:45	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	250		
16	13:55	Monday to Friday	Rancho Los Amigos N.R.C.	7601 E. Imperial Hwy.	Downey 90242	250		
17	14:00	Monday to Friday	Los Padrinos Juvenile Hall	7285 Quill Drive	Downey 90242	250		
18	14:40	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	250		
19	15:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	250		
ŀ		AL/PUBLIC HEALTH ROUTE (Saturdays)				689		
1	9:25	Saturday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	53		
2	10:30	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	53		
3	11:00	Saturday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	53		
4	11:30	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	53		
5	12:00	Saturday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	53		
6		Saturday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	53		
7		Saturday	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	53		
8		Saturday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	53		
9	13:30	Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	53		
10	14:15	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	53		
11	15:00	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	53		
12	16:00	Saturday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	53		
13		Saturday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	53		
ŀ		AL/PUBLIC HEALTH ROUTE (Holidays)				50		
1	8:00	Holiday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	10		
2	8:25	Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	10		
3	9:10	Holiday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	10		
4	10:10	Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	10		
	10:30	Holiday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	10		
		TED HIGH DESERT/ PUBLIC HEALTH ROUTE (MON - F	,			500		
1	12:30	Monday to Friday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	250		
2	14:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	250]	

Annual Number of Stops: 29,402 GRAND TOTAL MILES:

						Days per		Annual Stop	Annual Stop Number Deducting Holidays
	ANTEL	OPE VALLEY CLUSTER ROUTE				Week	Year	Number 2,600	and No Pick-Up 2,500
		Monday to Friday	South Valley Health Center	38350 40th St. East	Palmdale 93552	5	52	260	250
		Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	5	52	260	250
		Monday to Friday	Challenger Memorial Youth Center	5300 W. Avenue "I"	Lancaster 93534	5	52	260	250
4		Monday to Friday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	5	52	260	250
5	13:00	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
6	15:30	Monday, Wednesday, Friday	Lake Los Angeles Community Clinic	16921 East Avenue O, Space G	Lake Los Angeles 93591	3	52	156	147
7	15:30	Tuesday, Thursday	Littlerock Community Clinic	8201 Pearblossom Hwy.	Littlerock 93543	2	52	104	103
8	16:10	Monday to Friday	South Valley Health Center	38350 40th St. East	Palmdale 93552	5	52	260	250
9	16:30	Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	5	52	260	250
10	17:00	Monday to Friday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	5	52	260	250
11	18:00	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
	ANTELO	OPE VALLEY CLUSTER PM ROUTE						520	500
1	18:45	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
2	20:15	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
		RNANDO CLUSTER ROUTE						2,496	2,393
		Monday to Friday	Barry J. Nidorf Juvenile Hall	16350 Filbert St.	Sylmar 91342	5	52	260	250
		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
3	14:05	Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	5	52	260	250
4	15:30	Monday to Friday	Vaughn School Based Clinic	13330 Vaughn St.	San Fernando 91340	5	52	260	250
5	16:00	Monday, Wednesday, Friday, No pick-up 3rd of the month	North Hollywood Health Center	5300 Tujunga Ave.	North Hollywood 91601	3	52	156	143
6	16:30	Monday to Friday	Glendale Health Center	501 N. Glendale Ave.	Glendale 91206	5	52	260	250
7		Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	5	52	260	250
8	17:20	Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	1 -	52	52	50
9		Monday to Friday	Mid-Valley C.H.C.	7515 Van Nuys Blvd.	Van Nuys 91405	5	52	260	250
10	20:20	Monday to Thursday	San Fernando Health Center	1212 Pico St.	San Fernando 91340	4	52	208	200
		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
1		EAST CLUSTER ROUTE + ANTELOPE VALLEY (Saturda Saturday	South Valley Health Center	38350 40th St. East	Palmdale 93552	1	53	424 53	424
2	14:00	Saturday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	1	53	53	
3	16:00	Saturday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	1	53	53	
4	16:50	Saturday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	1	53	53	
5	18:00	Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	1	53	53	
6	18:15	Saturday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	1	53	53	
7	18:40	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	53	53	
8		Saturday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	1	53	53	
		EAST CLUSTER ROUTE + ANTELOPE VALLEY (Sunday						496	496
1		Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	1	52	62	
2	12:40	Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	52	62	
3	14:40	Sunday and Holiday	South Valley Health Center	38350 40th St. East	Palmdale 93552	1	52	62	
4	15:40	Sunday and Holiday	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	1	52	62	
5	18:00	Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	1	52	62	
6	18:15	Sunday and Holiday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	1	52	62	
7	18:40	Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	52	62	
8	19:00	Sunday and Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	1	52	62	

						Days per Week	Weeks per Year	Annual Stop Number*	Annual Stop Number Deducting Holidays and No Pick-Up
ı	NORTH	EAST CLUSTER ROUTE: Subroute 1						4,160	4,000
1	7:15	Monday to Friday, Monday only 7:00	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
2	8:00	Monday to Friday, Monday only 7:30	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	250
3	8:50	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	250
4	9:20	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	250
5	9:50	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	250
6	10:10		LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
7	11:00	Monday to Friday	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	5	52	260	250
8	11:30	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	5	52	260	250
9	12:00	Monday to Friday	La Puente Health Center	15930 Central Ave.	La Puente 91744	5	52	260	250
10	12:40	Monday to Friday	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	5	52	260	250
11	13:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
12	14:00	Monday to Friday, Friday only 15:55	Monrovia Health Center	330 Maple Ave.	Monrovia 91016	5	52	260	250
13	15:00	Monday to Friday, Friday only 15:20	Pomona Health Center	750 S. Park Ave.	Pomona 91766	5	52	260	250
14	15:15	Monday to Friday, Friday only 14:55	La Puente Health Center	15930 Central Ave.	La Puente 91744	5	52	260	250
15	15:45	Monday to Friday, Friday only 14:00	Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	5	52	260	250
16	16:30	Monday to Friday, Friday only 16:45	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
1	NORTH	EAST CLUSTER ROUTE: Subroute 2						4,004	3,850
1	11:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
2	11:20	Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	52	52	50
3	11:30	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	250
4	12:20	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	250
5	13:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
6	13:30	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	250
7	13:40	Monday to Friday	East San Gabriel Valley Satelitte Medical Hub	4024 N. Durfee Rd.	El Monte 91731	5	52	260	250
8	14:00	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	250
9	14:15	Friday	Dorothy F. Kirby Center	1500 S. McDonnell Ave.	Los Angeles 90022	1	52	52	50
10	15:00	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	250
11	15:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
12	17:00	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	250
13	18:25	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	250
14	19:00	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	250
15	19:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
	19:55	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	250
17_	20:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
1	-	EAST/COASTAL CLUSTER ROUTE: Subroute 3						1,560	1,500
1	8:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
2	9:30	Monday to Friday	Public Health Lab	313 N. Figueroa St	Los Angeles 90012	5	52	260	250
	11:55	, ,	Hollywood/Wilshire Health Center	5205 Melrose Ave.	Hollywood 90038	5	52	260	250
4	12:25	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	5	52	260	250
	12:55	Monday to Friday	Weingart Medical Clinic	515 E. 6th St.	Los Angeles 90021	5	52	260	250
6	13:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250

						Days per Week	Weeks per Year	Annual Stop Number*	Annual Stop Number Deducting Holidays and No Pick-Up
5	OUTH	WEST CLUSTER ROUTE						4,160	4,000
1	9:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
2	10:00	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	5	52	260	250
3	10:30	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	5	52	260	250
4	11:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	250
5	11:20	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	250
6	11:40	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
7	12:00	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	5	52	260	250
8	12:20	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	5	52	260	250
9	12:40	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	250
10	13:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	250
11	13:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
12	14:00	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	250
13	14:30	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	250
14	15:00	Monday to Friday	South Health Center	1522 E. 102nd St.	Los Angeles 90002	5	52	260	250
15	15:30	Monday to Friday	Dollarhide Health Center	1108 N. Oleander St.	Compton 90221	5	52	260	250
16	16:00	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
(COAST	AL CLUSTER ROUTE						3,900	3,750
1	10:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
2	11:30	Monday to Friday	Bellflower Health Center	10005 E. Flower St.	Bellflower 90706	5	52	260	250
3	12:15	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	5	52	260	250
4	12:30	Monday to Friday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	5	52	260	250
5	12:45	Monday to Friday	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	5	52	260	250
6	12:55	Monday to Friday	Torrance Health Center	711 Del Amo Blvd.	Torrance 90502	5	52	260	250
7	13:05	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
8	15:20	Monday to Friday	Gardena School Based Clinic	1301 W. 182nd St., Rm W1	Gardena 90248	5	52	260	250
9	16:00	Monday to Friday	Bellflower Health Center	10005 E. Flower St.	Bellflower 90706	5	52	260	250
10	16:45	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	5	52	260	250
11	17:00	Monday to Friday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	5	52	260	250
12	17:15	Monday to Friday	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	5	52	260	250
13	17:50	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
14	18:30	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	5	52	260	250
15	19:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250

						Days per Week	Weeks per Year	Annual Stop Number*	Annual Stop Number Deducting Holidays and No Pick-Up
	HOSPIT	AL/PUBLIC HEALTH ROUTE						4,940	4,750
1	7:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
2	8:15	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	250
3	8:30	Monday to Friday	Barry J. Nidorf Juvenile Hall	16350 Filbert St.	Sylmar 91342	5	52	260	250
4	9:20	Monday to Friday	Public Health Lab	313 N. Figueroa St	Los Angeles 90012	5	52	260	250
5	9:25	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	5	52	260	250
6	9:45	Monday to Friday	Los Padrinos Juvenile Hall	7285 Quill Drive	Downey 90242	5	52	260	250
7	10:00	Monday to Friday	Rancho Los Amigos N.R.C.	7601 E. Imperial Hwy.	Downey 90242	5	52	260	250
8	10:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	250
9	11:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
10	11:30	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
11	12:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	250
12	12:30	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	250
13	13:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
14	13:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	250
15	13:45	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	250
16	13:55	Monday to Friday	Rancho Los Amigos N.R.C.	7601 E. Imperial Hwy.	Downey 90242	5	52	260	250
17	14:00	Monday to Friday	Los Padrinos Juvenile Hall	7285 Quill Drive	Downey 90242	5	52	260	250
18	14:40	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	250
19		Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	250
HOSPITAL/PUBLIC HEALTH ROUTE (Saturdays)								689	689
1	9:25	Saturday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	1	53	53	
2	10:30	,	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	53	53	
3	11:00	•	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	1	53	53	
4	11:30	•	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	53	53	
5	12:00	,	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	1	53	53	
6	12:25	·	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	1	53	53	
7	12:35	,	Family Medicine	1403 W. Lomita Ave.	Harbor City 90710	1	53	53	
8	13:05		Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	1	53	53	
9	13:30		H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	1	53	53	
10	14:15	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	53	53	
11	15:00	•	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	53	53	
12	16:00	Saturday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	1	53	53	
		Saturday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	1	53	53	
		AL/PUBLIC HEALTH ROUTE (Holidays)		1000 W. O. O.	T 00500			50	50
1	8:00	Holiday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509			10	
2	8:25	Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059			10	
3	9:10	Holiday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342			10	
4		Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033			10	
5		Holiday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242			10	500
ار		NTED HIGH DESERT/ PUBLIC HEALTH ROUTE (MON - F	,	44000 NL COSE OF MARK	Lt 00500		F0	520	500
7	12:30	, ,	High Desert Health System	44900 N. 60th St. West	Lancaster 93536	5	52	260	250
2	14:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	250

Total Annual Number of Stops 29,402